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R75.10 |[FFL\ZA ] By 10 @
R75.10 |2 L\CA FE Y 10 @
R7.510 [£LN\CA At Y = @
R75.10 [IZALA i By 10 @
R75.10 |I2ALA ) By 10 @
R75.10 |I2ALA &t ) = @
R7.5.10 [[£<E0y Fe Y 15 ®
R7.5.10 |l£<&L &t 0] = ©
R7510 |Fv~_w ) 5Y 10 @
R7.5.10 |Fv_Y il 0] 10 @
R7.5.10 |Fv¥_Y &5t Y = @
R75.10 [ReoLvy I Y —K ®
R75.10 |ReyLovy #E ®Y —R ®
R7.5.10 |FRLy™ &% #Y = ®
R75.10 |R& (F) #4 Y —R ®
R7.5.10 |R¥(A) E3d 0] 5 ®
R7.5.10 [fa¥ () FE Y 5 ®
R7.5.10 |h¥ &% 0] = ®
R75.10 [L2X F Y 10 @
R75.10 |LAR GilE] Y 10 @
R7.5.10 [L%X A% Y = @
R75.10 |Zp35Y(X—3—) (5G] Y 5074
R7.5.10 [Zp5Y (@) BE Y 5
R75.10 |Zp5Y (@) il 0] 5
R7.5.10 (Ep35Y At Y 8.0
R75.10 |AFb® pE ] 0] 10 ©
R75.10 |MFLw N-Z Y 10 ®
R7.5.10 |MFEw &% Y = ©
R7.5.10 |%9 () B4 Y 5
R75.10 |59 (&) BEA 0] 4
R7.5.10 (49 &5t Y =
R75.10 |r<k BE Y 4 @
R7.5.10 [F=h 2 Y 4 ®
R75.10 |F<h &% Y = ®
R75.10 |[E—<> B2 Y 0.15 @
R75.10 |E—=> &% Y = @
R7.5.10 [SPRAES At Y -
R7.5.10 |[EhirL& 4 Y 10 ®
R75.10 |[EhirL& ERE Y 10 ®
R7.5.10 |[Ehl L& &% Y = ®
R75.10 [fzFh&F F Y 20
R75.10 |f=Fh¥ ®E B 20 ®
R7.5.10 |f=FhE &5t Y =
R75.10 |EL&SH Bl Y —=®
R7.5.10 [FEL&LSH AF iy -
R75.10 |&£LLV=IF+ 4 B 0.1 ®
R7.5.10 |&£LLM=IF a5 Y = ®
R7.5.10 [z DZEIF % Y 0.2
R7.5.10 |ZDEFIF ait iy -
R7.5.10 [SAL&HL f334 Y 0.1
R7.5.10 [SAL&OHL GG Y 0.1
R7.5.10 [S7AEL&HL ait iy -
R7.5.10 |&t Y 8.0
R7.5.10 |#&t Y 8.0 i RE
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R75.10 [ZL A E/31 #axt 1.9 10 1188 1188 1134 @
R75.10 |fZLZ\CA FE fizbsl 9.1 10 1512 1296 864 ®
R7.5.10 [fZL\CA At ARt 134 ®
R75.10 |[[CALA GilE] fizbsl 10 @
R7.5.10 [[CALCA me Haxt 1.9 10 2160 1944 1512 @
R75.10 [[CALA ait Lizbsl 11.9 @
R7.5.10 [[Z<&LN E/31 axt 110 15 1296 1080 486 ®
R7.5.10 [[&<&0Ly ait Lizbsl 11.2 ®
R75.10 |Fr~RY #wE) Li:bol 7.8 10 918 702 432 @
R7.5.10 [FvRw £ #axt 2.3 10 864 540 432 @
R75.10 |Fv~Y &t Lizbsl 29.1 @
R7.5.10 |RHL>vY™ P37 fizbs) 02 —ik 97 86 ®
R7.5.10 |RL2vY™ BHE izbel 02 —X 108 108 103 ®
R7.5.10 |7RHL>vy™y &% Lizbsl 0.9 ®
R7.5.10 [RE (F) FhiE izbel 04 —X 184 162 65 ®
R7.5.10 (¥ (A) P31 fizbs) 0.1 5 2484 2484 1944 ®
R7.5.10 [Ra¥F(A) FE Fizbe 1.9 5 3240 1512 1512 ®
R75.10 [a& &% Lizbsl 3.1 ®
R75.10 |LAR B2 izbel 0.7 10 1188 @
R7.5.10 |LAX GilE] fizbs) 3.0 10 1836 1404 1296 @
R7.5.10 |LAX &% Lizbsl 5.3 @
R75.10 |Ep5Y(XR—3—) GilE] fizbs) 02| 50& 2484 1620 1512
R7.5.10 [Ep3Y(H) HE izbel 2.1 5 1728 1728 1404
R7.5.10 [E®3Y(H) £ bizba 038 5 1728 1188 972
R7.5.10 |Zw>Y Aait Lizbol 7.0
R7.5.10 [AFbe A%0 Lizks) 10 ®
R75.10 |MFEE% N-Z Lizbsl 038 10 2700 1944 1944 [©)
R7.5.10 [HEb% &% Lizbs) 0.9 ®
R7.5.10 |9 () Z50 Ei:bol 03 5 2160 1944 1728
R7.5.10 |49 (R) RER Lizks) 22 4 1728 1296 1080
R7.5.10 |%9 Aait Lizbol 3.2
R75.10 |k<hk GG Lizks) 24 4 3888 1512 1296 (1)
R7.5.10 [F<k RER Lizbsl 1.3 4 1188 1188 1080 (1)
R7.5.10 |k<hk &% Lizbs) 3.6 ()
R75.10 |E—<> B2 Lizbsl 2.1 0.15 86 @
R75.10 |E—<> &% Lizbs) 3.0 @
R75.10 |SPRAEDS Aait Lizbol -
R7.5.10 [[EhirL& GG Haxt 5.2 10 4536 4536 4104 ®
R75.10 [[Ehi L& BRE Ei:bol 6.8 10 5616 3024 2484 ®
R7.5.10 [[EhirL& &% Lizbs) 125 ®
R75.10 [fzFh&F F Haxt 20
R75.10 |f=Fh¥ &5 At 20 @
R7.5.10 [fzFh&F ait Lizbol 49
R7.5.10 |EL&LSH il %t 02| —X 124 108 76
R7.5.10 [FEL&LSH AF Lizbol 0.2
R7.5.10 [£LUL=IF GG At 0.4 0.1 216 119 108 ®
R7.5.10 [£LU =1+ aF Lizbol 038 ®
R7.5.10 [z DZEIF % At 15 0.2 97 65 65
R75.10 |z DEL(F ait Lizbol 1.5
R7.5.10 [SAL&HL f334 Haxt 03 0.1 79 54
R7.5.10 [SAL&OHL GG At 1.6 0.1 76 70
R7.5.10 |S4L®HL ait Lizbol 20
R7.5.10 |&t Lizbsl 114.7
R7.5.10 |#&t Lizbol 114.7 iR RE
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R7.5.10 |#MA (1A\HR) il ) 04 0
R7.5.10 |#&HA &% #Y = @
R75.10 YA (Zat+d—LR) |& D) 10 @
R7.5.10 (AT (B2 5L) =5 D) 10 @
R7.5.10 [JAT(AL) =5 D) 10 @
R75.10 [YACT (F/3—1LK) |F D) 10 @
R7.5.10 [YAC &t 3y = @
R7.5.10 (U1 BRE Y 0.25
R7.5.10 |U4 At ) -
R7.5.10 |T32LTF(\DIR) [ITE1] Y 2
R75.10 |T59L7 L Y -
R7.510 |6 (HIIE->X) ido Y 0.26 ®
R75.10 LI (FLUE) FrhE ) 0.26 ®
R75.10 [\ &% L) = ®
R75.10 [AOY (FZ—ILR) il By 8 @
R75.10 [*OY (FYFR) B35 By 5 @
R75.10 [0 (7L FR) Bk Y 5 @
R75.10 | AQAZ D) R Y 5 @
R75.10 | AQAZ D) Bk Y 5 @
R75.10 [*@> &% L) = @
R7.5.10 [$ L\ (D R) BEA #Y 15 ®
R75.10 [FL v &% L) = ®
R7.5.10 |FIL—~1)— FrhE ) 0.1
R7.5.10 |FTIL—~1)— L w5 -
R7.5.10 |5t Y -
R7.5.10 |#&t #Y = i RE
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R7.5.10 [#HMA (/\IR) FiE ik - 0.4 @
R7.5.10 |#&HA &% ks = @
R7.5.10 (VAT (P33 —ILK) |F A% 0.3 10 5,400 @
R7.5.10 |YAZ (Y2 5L) B Lizks 1.1 10 5,940 5,724 5,184 @
R7.5.10 [YAZ (5L) B Lizks 0.5 10 7,560 7,560 5,724 @
R7.5.10 |YAZ (F+/d—ILKR) |&F Lizks 0.7 10 5,400 5,400 4,860 @
R7.5.10 |YACT At Lisbsl 26 @
R7.5.10 (U1 BRE Lizks 0.1 0.25 594 540 432
R7.5.10 (U1t At Lisbsl 0.1
R7.5.10 |T32LTF(\DIR) [ITE1] Lizks - 2
R7.510 (75T 7 = X -
R75.10 | (FLIE->X) Frhe Lizks) 0.5 0.26 356 324 302 ®
R7.5.10 (LW (EHUE) Bl ks 03| 026 356 324 162 ®
R7.5.10 |L\6T L X 0.8 ®
R7.5.10 |AOY (7—ILR) Frhe A% 0.1 8 18,360 14,580 14,040 @
R75.10 [AOY (LT R) B3 #axt - 5 @
R75.10 [AOY (LT R) BEAX #axt - 5 @
R7.5.10 |ARA(ZDHh) B3 #axt - 5 @
R7.5.10 |ARA(ZDHh) BEAX #axt - 5 @
R7.5.10 |*A> L X 0.2 @
R75.10 |4 LAAMUAHR) BER Haxt 42 15 8,640 7,020 5,940 ®
R7.5.10 [F L A L X 43 ®
R7.5.10 |FIL—~1)— FrhE A% - 0.1
R7.5.10 [J)L—~1— L X -
R7.5.10 |&t Lisbs) 8.0
R7.5.10 |#a&t Lisbs) 8.0 min:RE
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